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restart;
with(plots):
y_ij:=proc(i,j)
exp(-betaxe[i, jl+1/2/omegaxbeta* (muli]+mu[j])+(2*xomega-1)/2/omega*ln(x
[i]*x[31));

end;
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Warning, the name changecoords has been redefined



y-ij := proc(i, j)
exp(—f*e; j+1/2%Bx (u; + pj)/w+1/2% (2w — 1) xIn(z; * x;)/w)

end proc
>  Omega:=3;
> G:=x->x*(1-x)*0mega+ (x*1n(x)+(1-x)*1n(1-x));

Q:=3
G=z—z(1-2)Q+zln(z)+(1—2)In(1l —=z)
> plot(G(x),x=0.01..0.99);
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>  G_mu:=(x,x0)->subs (t=x0,diff (G(t),t))*(x-x0)+G(x0) ;
G_mu = (z, 20) — subs(t = 20, 2 G(t)) (z — 20) + G(z0)
> plot({G_mu(0.01,x),G_mu(0.99,x)},x=0.01..0.99);
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mu_in;
mu_in
mu_in:=[];
x_in:=[];
for x from 0.05 to 0.95 by 0.05 do
x_in:=[op(x_in), [x,1-x1];
mu_in:=[op(mu_in), [evalf (G_mu(0.0001,x)),evalf (G_mu(0.9999,x))]1];
od:

mu_in := ||
z_in =]
omega:=12/2;
Temp:=3;
beta:=1/Temp;
e23:=2/3:
e22:=0:
e33:=0:
e:= array(1..2,1..2, [ [e22,e23],[e23,e33] ] ):
w:==06
Temp := 3
1
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n_i:=2;

results:=[];

for mu_i from 1 to nops(mu_in) do
x:=array( 1..n_i,x_in[mu_il);
mu:=array(l..n_i,mu_in[mu_il);
y:= array(l..n_i,1..n_i, [ [0,0],[0,0] 1 ):
lambda:=100000;

lambda_o0ld:=0;

while abs(lambda_old-lambda)>0.01 do
lambda_old:=lambda;

y_total:=0:

for i from 1 to n_i do

for j from 1 to n_i do
yli,jl:=y_ij(1,]);
y_total:=y_total+yl[i,j];

od;od;

for i from 1 to n_i do

for j from 1 to n_i do
y[i,j]1:=y[i,jl/y_total;

od;od;

for i from 1 to n_i do

x[i]:=0;

for j from 1 to n_i do
x[1]:=x[il+y[i,j];

od;od:
lambda:=-1n(y_total)*omega/beta:
#print (mu, lambda,x) ;

od:

#results:=[op(results), [x[1],lambda+(mu[1]*x[1]+mu[2]*(1-x[1]))]1];
results:=[op(results), [x[1],lambdal];
od:

n.i =2
results := []

listplot(results);
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> #results;
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